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Time: 2%, Hours Total Marks: 75" .

Note: 1) All questions carry equal marks and are compulsory,
2) Figures to the right indicate maximum marks for a question.

QL (4) Attempt any two  sub-questions from (a), (bJ (c) in spreadsheet o 2%
(True/False) . (7 o e
(a)  Shiftkey is used to select a non-contiguous rangc

(b)  There are two types of cell references. g
(c) A pivot table is a dynamic summary of the clat_a.-

(B) Attempt any two sub-questions from (d] (e), (0 in MySQL ' 7 DN

(Multiple Choice) S ;

(d) Toindicate that there should be 5 1ntegers and 2 dec1mal posmons we use
)DECIMAL(7,2)  ii)DECIMAL(S,2) iif)DECIMAL(2,5) - w)DECIMAL[Z 7).

(e) When one query is written within another querylt is termed asa .
i) Mini query ii) Net query Iu) Sub' query.. w] Tled qliery

(f)  InMySQL, the operator LIKE "%R" mds match fora: strmg
i) Ending with R ii) Starting with R Hiii) Contammg R W) Contalmng R%

(C) Attemptany six sub-questions frem (g) (h),(1), ()] (k).(D), (m) (nJ (0) (6)

in Data Communications, Networlung and Internet (True/False)

(g) The data transmission can take place W1th0ut a protocol. -

(h)  Inclient server architecture, all resources are controlled by the server.

(i)  Inring topology failure of one node w:ll not affect the functlomng of the
network. ; : i

() Coaxial cable can be used over longer dlstances than twisted —pair cable.

(k)  Abridge is a device using which we can segment a larger network into two
smaller, more efficient networks. :

m Ip addresses are easier to remember.

(m) Face book is a search engine. f

(n) - Emails cannot be sent with attachments.

(0) Vtshmg uses VoIP to make a phlshmg attack.

S (D) Attempt any five sub-questions from (p).(q).(r).(s).(1),(u),(v),(w) (5)
in Data Communications, Networking and Internet. (Multiple Choice)
(P) A__ network spans a number of cities and countries.
© YLAN i) MAN iii)WAN iv) None of these
(qQ) . The transm:ss:on medmm that carries the message is referred to as the
_ = i) Protocol ii) gatcway iii) Communication channel iv) Transport
(r) In__  topology all nodes are connected with a single cable.
) i)Bus - ii) Ring iii) Star iv) None of these
(s)  POP stands for - .
i) Post Office Protocol i) Post Open Protocol
- iii) Post Operate Protocol iv) None of these
(t) As thedata packet moves from upper layers to lower layers, headersare
' i). Added ii) Rearranged iii) Deleted iv) Modified
() The activity of updating ablogiscalled .
: i) Blogging ii) Blogger iii) Presenter iv) Hacking
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(v) is a meta search engine.
i) Dogpile ii) Google iii) Alta Vista iv) Yahoo
(w) AnIP address is made up of bits. NS
i) 64 ii)32 iii)16 iv) 8
Q2. (A) Answer any one sub-question from (a), (b) in Data Comn'i.unicatipns'_, : (8]

Networking and Internet.
(a) Explain i) MAN ii) WAN

(b) Write a note on Bridge and Router.

(B) Answer any one sub-question frorn (c) (d] in Data. Commumcatlons (7)
Networking and Internet.
(c) Whatis electronic mail? State advantages and 1mportancc ofe mall

(d) Write short notes on smfﬁng and spoof‘ng

Q3. (A) Answer any one  sub- qucstton from (@), (b) in MySQL T (8)
(a) Write MySQL statement to create a table called PAYROLL having the columns
Employee Number (ENO, integer, Prlmary key] Employee Name (ENAME,
character with variable width 25 columns, should not be empty), Date of Joining
(DOJ, Date) and. Salary (SALARY, width 0f9 1ncludmg 2 decimals, default value
18000).

(b) Write MySQL statement to creatc a table called ABFOUNDATION having
columns Dénor Identity Number (DNO Integer, Primary key), Donor Name
[DNAME ‘character with width 20 columns), Donor Email Address (DEmail,
character with variable width 15 columns) Amount Donated (DAMT, integer,
not nega i ej_ Date ochmatlon (DT, Date).

(B) __Answer any on X 'iﬁb"-'ques'tion from {9 (d) in MySQL (7)

(c) Explam the followmg built- -in functions in MySQL.
1)UPPER() 2)LTRIM( ) 3_) RIGHT( ) 4) DATE()

'._,_-5)ROUND[] =3”'=36)_-PQW()- 7] MONTHNAME( )

(d) There EXISts a tabl LIPKART hawng the columns Customer Number (CNO,
. - integer), Customer -Name (CNAME, character), Product Name (PNAME,
. character),: Total Cost {TCOST integer) and Date of Purchase (PURDT, date).
<] erte MySQL statements for the following.

1] DlSplay l;he structure of the table FLIPKART.
b 11) Enter the following one row of data in this table.
. .| .CNO’| CNAME | PNAME TCOST | PURDT
© " 7] 1001 ADITYA | Realme2Pro | 9000 | 2019-04-10
. _111] Delete the row where Customer number is 950.
+iv) Add anew column Discount (DISC, integer) at the end of the table FLIPKART
SAAY) Change the Product Name to NOKIA for Customer name “Ramesh Shah”.
* .~ vi) Change the size of the column CNAME to 25 columns.
vii) Rename the table FLIPKART as FLIPCART.
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Q4. (A) Answer any one  sub-question from (a), (b) in MySQL X > Loyl
(a)  There exists a table GOAIR having the columns Flight Numbe 0, integer),

Destination Name (DNAME, character), PRN Nurnb 'r.{PRTN}H' iteger

Amount (FARE, numeric). ¢ S

Write MySQL statements for the following. !

i) Display Flight Number, Destination Name and. F”al e Am unt o thi table..

i) Display Flight Number and Fare Amount forthere‘cords where Fa OUn

is below the average Fare Amount. o

iii) Display PRN Number, Destination Name for thb reco

is equal to the Highest Fare Amount

from the table for each Destination Name ;
v) Display all the rows from this table m the desce

(b) ' 0,5
integer, primary key] Name (SNAME chara gfer) Class (CLASS {haracteﬂ :
There exists another table RESULT-;cgntaunmg qolgmns\RtﬂI Number-
integer, primary key), . Totdl /'marks: ('I‘OTAL 3
(PERCENTAGE, integer) and Grade (GRADE, haracter
Wr:te MySQL statements for the followmg '

iii) D:splay Rol! number and Totq} marks ef studen
than average: II‘otal Marks using table: RESULT." :
iv) Dlsplay Roll Number and Name ofstudents whose RUH Number is divisible
by 7. usmg tabl 'fABPCOLLEGE ;

Q4. (B) Answef:any one sub,-.questmn‘fno )_;,_‘Id] in M ySQL (7)
(c) = There exista tablecal[ed BATAS contam g cqlumns Employee Name (ENAME,
.“_character] Department Nan e;{DEPT char-acter] Date of Joining (DO]J, date),
' _--1’Salary {SALARY numencj and Age [AGE integer).

- :_. 1] Dlsplay< Department Narn tota-' salary and average Salary for each
s ‘_Departlgent 3 IR IR
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(d) There exists a table TAX having the columns Permanent Account Number (PAN,
integer), Name (NAME, character), City (CITY, character); 'laxablt,lncomc (INC,
integer) and Income Tax (ITAX, integer).

Write MySQL queries for the following. '

i) Display all the rows from this table where the first letter in the Name is ‘U,
i) Display all the rows from this table in the descendmg or der of Taxable
Income. '

iii) Display the columns Permanent Account numbe: Name and lncomc Tax
from this table,

iv) Display Permanent Account number, Name and Taxable lncome from this
table where Income Tax is more than 200000.

v) Display all the rows from this table.

vi) Display the total Income Tax collected from this tab]e and label it as TOTAL

,};
[

TAX.
vii) Display Name, City and Taxab]e Income of the Employee whose name is
“Kalpesh Joshi”, : .
Q5. (A) Answer any one sub- questlon from @), {b] in MS- EXCEL ) (8)
(a) The following data has been enteredmaworkshect. B E :
A B B B S sl D = E <
1 | FNAME | GENDER | DEPARTMENT | CITY = SALARY
2 | NIHAL - |[M 'EXPORT | PUNE 50000
3 | GAYATRI|F -~ . | ADMIN. | ' MUMBAI | 80000
4 |RAMYA |F AT S NASIK 98000
5 |SMITH. | M i 4 - | NASIK 70000
6 | ALAN M EXPORT . | PUNE 35000
7 | SRUSHTI | F | -AADMIN ‘| PUNE 74000
8 |-POOJA ~ -|'F- - EXPORT MUMBAI | 65000
9 | SAIF -~ |'M ADMIN PUNE 63000
110 '.'PRANAV M ADMIN MUMBAI | 78000

; -erte the Steps to create -a Pivot table showing the average salary and
max1mum salary department wise m column G.

w5 ) In the fullowmg worksheet the cost of machmery is entered in cell B2, number (8)

' 3_0!" years is entered 1n B3 and rate of depreciation is entered in cell B4

o[ B LD E F
AT S8 ¥ YEARS DEP WDV
: [2:{.€cOST " - | 1000000 1
131YEARS |6+ | 2
3 A4 FRATE= 1 12% & 3
75T 4
6] 5
171 6
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Q5. (B) Answer any one sub-question from (c), (d) in MS- EXCEL s OV A SIS A A
(c)  The following data has been entered in a worksheet; .~ o I A LN .
A B c D E
1 | NAME OF SALES | COMMISSION ADDITIONAL TOTAL
SALESMAN COMMISS[ON COMMISSIUN
2 | Shantanu 58000 L iy :
3 | Vijay 23800
4 | Bhavana 56000
5 | Karan 72300
6 | Shiv 64200
7 | Poornima | 28000
Write the steps to calculate AR R SR L S
i) Commission at the rate of 15%. "5 &0 & » A8 Keme > ¢

ii) Additional Commission at the rate of 20% orRs SUOD whlchever is
maximum. et T O
iii) Total Commission = Cnmmlssmn +Addmonal Commlssmn

(d) Explain the following built i in functlons in MS- EXCEL

1.PV() 2.NPER() 3PPMT(J : 4SUM(]
5.MIN () 6ABS(). > 7R0UNDD0WN()' :
****_****.***
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